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15. The plane with equation 7 = (1. 2, 3) + m(1, 2. 5) + n(1, —1, 3) intersects

the y- and z-axes at the points A and B, respectively. Determine the equation
of the line that contains these two points.
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14. Show that the following equations represent the same plane:
F=u(-3,2,4) +v(—4, 7. 1), u.veR, and
F=s(-15-3)+1#-1,-57), stk
((in)) Express each direction vector in the first equation as a linear combination
of the direction vectors in the second equation.)
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11. Determine the equation of the plane that contains the point A(—2, 2, 3) and
the line 7 = m(2, —1,7),meR.

et Tom (on1)  eorthe vche e e
Q°\a\ = ko\a\o) A+ JCK'L \"T + 5& ke >
JM

Lines&Planes Page 2



